NOTE: Write your answers in box provided below. Use the back of the page for calculations. Calculations
at the back of page or outside the box will not be checked or graded.
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Messages arrive at a processing node according to a Poisson Process with a rate of 15messages per minute '
on the average. Find the probability that in a 1 minute period, 3 messages arrive during the first 10 seconds
and 2 messages arrive during the last 15 seconds. PLEASE JUSTIFY ASSUMPTIONS AND
METHODOLOGY USED. CALCULATIONS WITH NO EXPLANATIONS WILL NOT COUNT!
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